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CIELAB -Y-Empfindlichkeit
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QYN T @Y. normiert fir (AY/Y),

L*=s(Y/Yp)"=d (Y4=100,Y,=18, s=116, n=1/3, d=16)  [1.
L*=r (Y/Yy)"=d (r=s(Yd/Yy)"=65,49,L* ;= - d) [1b]
dY /Y= (Yo (ns) Y /Y)Y [3c]
@Y 1Y) = [ (Y (ns) 1Y/ Y)Yy [3d]
@AY /Y)Y @Y 1Y, =(Y 1Y) ™" [3€]
log [(dY / Y)/ (dY / Y))] = (=n) log(Y / Y) [3]

hgp0i-1a hgp01-2a

AYIY) I AY/] IECSRGB-Y-Empfindlichkeit |[ (AY/Y) / (AY/ TUBSRGB-Y-Empfindlichkei {

(@Y YNy normiert fiir ( AY’;Y)u EYM T EYN normiert fiir (AYE)Y)u
L*=s(Y/Yy)"=d (Y,=100,Y,=18, =100, n=1/2,4, d=0) [1| L*=s(Y/Yy)"=d (Yn=100,Y,=18, =100, n=1/In(10), d=0)1
L*=r (YIYQ)"=d (r=s(Y/Yy)"=48,94,L* ;= r - d) [1b] L*=r (YY) "=d (r=s(Yd/Yy)"=47,48 L% ;= - d) [1b]
dY/Y=[ (Ve (ns) 1Y 1Y) 1Y [3c] dY /Y= (Yol (ns) Y 1Y) ™Y [3c]
@Y /1Y) =Y (n8)1(Va/ Yo ™1 Yy [3d] @Y /Y= [Vl (n8) 10Yu/ Vo) T Yy [3d]
@Y /)@Y Y, =(Y/Y)™" [3e] @AY /1Y) @Y 1Y, =(Y 1Y) [3€]
log [(dY / Y)/ (dY / Y),] = (=) log(Y / Y) [3f] log [(dY / Y)/ (dY / Y))] = (=n) log(Y / Y) [3]
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